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Instructions : All questions are compulsory. There are 22 questions.
(i) WA HAE 1 Q7 7% sHfaegsad v 1 yde v F 1 i fuffm €
Question Nos. 1 to 7 are very short answer type questions. Each
question carries | mark.

(i) W FWE 8 ¥ 13 TF org3da yA ¥ vdw v A 3 siw fruifa ¥
(T FY w&-gh 50 v 9% §)

Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 werds)

(v) WA B 14 B 20 7% TEIRA A € | vdw 7 | 5 ofw P ¥
(TR B T 150w aF R)
Question Nos. 14 to 20 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of answer is /56 words)

(v) W HWE 10, 16, 18, 20 T 22 ¥ Hiafs fawes Ry m )
In Question Nos. 19, 16, 18, 20 and 22 internal options are given.
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(vi) gfic sifera o, f wedl § ARfaa of orean e g 7T €, 5%
A R 3T wfale/fatmamedt & 1-1 fag fa@h
Visually impaired students will write 1-1 point of speciality of that
places in the map-making questions.

(vii) FEI A S IO T F IW, A TF AU F WE W FFA
fagaw fa@n |
Hearing impaired students will write the long answer type questions
with points only.

(viii) W Wi 21 3R 22 o0 Siva R e ¥ ) e fafea faget =t
wear w3k wefki wem &1 wde g H 5 st i ¥
Question Nos. 21 and 22 are related to identification or locating and
labelling of map, carrying 5 marks in each question.

TR et wgd € 2 [1]
What do you mean by the death-rate?

HH WA faT Gaoic H TR Fel @ FEl a0 g1 € 2 [1]
What is the average score of human development index?

fired & w7, firewsprdt wd sl & qme e efia €2 [1]

Making clay utensils, crafts and bamboo items are related to which industry?

12011 T IIUAT F AR WA F fFg Toa F seEen vTe gaitus
¥ [

According to Census of 2011, which state of India has the highest
population density?

o F e i@ s Am R ? [1]
What is the name of largest slum area in Asia?

seieg # waR sifues @ e Fel ar s R ? [1]
Where is maximum amount of minerals found in Chhattisgarh?

TUETG i °H HT HA T Hel 1 ¢ 2 | [1]

Why Chhattisgarh is called Bowl of Rice?

fer eruTer 9 w9y S § 2 (3]

How is sex-ratio measured?
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U¥-10

UeF-11

131
STt gl & Formtor gro g = 7 @y W € € 2 | (3]
What are the benefits nations get by forming trading biocs?

e gra-wivetiee Yemet o feorl fafaq [1+1+1=3]

Write note on Australian Trans-continental Railway.

erar
OR

Zre-umrEafaE Temn w feoo fafae)

Write note on Trans-Siberian Railway.

A= fam T fax Y TEet I % IW AN - [1+1+1=3]

(37) 78 uHio & wfaew 1 T fafen)
(7) Y wfrew wel o e €2
(%) 39 wiaey = ua favmm fafag)

Study the diagram given below and answer the following questions :

(a) Write the name of the rural settiement pattern.
() In which areas do you find the rural settlement pattern?

(¢) ‘Write one characteristic feature of the settiement pattern.
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WH-13

WH-14

WF-15

W -1é6

wW-17

[4]
e vfa yardt SR fredt fram % oer vl F ot WA Ryl [1%+H%=3]

Write the differences between life-time migrant and migrant by

last residence.

ferel T Hgper Y Ye=H fRT YR #Y S waedt # 2 [1+1+1=3]

How an urban package can be identified?

TR # 9fEeT & A SF-9 A ¥ 2 W iaed ) afa F0 99
A w1 9ui i [2+1+1+1=5]

Which are the means of transport in India? Describe the factors.

affecting the rail transport (any three).

-G FaIY 91§ ? 90 319 Wi ¥ T 9% waq orofe faee §
TRVl THHT T HT Hohell & ? [2+43=5]
What is watershed management? Do you think it can play an

important role in sustainable development?

SHifFRE wRa ¥ Hefia fagia 1 wfaoen wdvew fem fwn?
FAiIfwHE HHA T AT ATe3A T quiF Fifaw) [1+4=5]
Who has given the theory of Demographic Transition first time?

Describe the demographic transition of three stages.

arerar
OR
e fawE &t dee fFaT wge #1? S wn Wt 8 s
Hifg )

Who has given the concept of Human Development? Explain their

four pillars.

HAE el Y 9 forg gT Ad e & ey 85 @ gege) [2+3=5]
Write the definition of Human Geography and explain the scope of

- human geography.
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e -19

W-20

[51]
TETETE AR GE Ay TYuTer & i AR ¥ ? S T au
arforen qyTeH o SR TRy (FE &) |
What do you mean by livestock farming and commercial animal

husbandry? Write the differences between livestock farming and

commercial animal husbandry (any three).

srerar
OR

aEITTE FHY Td g Fin A 0 e § 2 Sewfes $E w6 w
it iy § ¥ 9 =1 fafa)

What do you mean by Commercial Agriculture and Truck Farming
Agriculture? Write any three differences between commercial

agriculture and truck farming agriculture.

TEUm § T ST € ? W R wER &% € €2 Rl @ g

[2+3=5]

=R & fgm fafaa [1+1+1%+1%=5]

What is meant by pollution? How many types of pollution are there?

Write the reasons and diagnosis of any one pollution.

R T @A Wi ¥ vEr Fiy fawm o s A ok

Hifeg | [1+1+1+]1+]1=5]

Describe the important strategies for agricultural development

followed in the Post-Independence period in India.
3rerar
‘OR
VRE H -TrTed FaSTRT g0 19T T, -394 1 9ofR Sifsre |

Describe the use of the land adopted by the department of land

revenue in India.
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uvt-21  fava & uerifoe der wmfes o qufy e fret fageit @ wewr aa

ST T ST I-Yfaenr § o - [1+1+1+]1+]1=5]

(A) oTHIH WRIEIY T 999 ST A%el aTeN 9

(B) U fate R

(C) wia-HidHea Taunt & 3ifaw wvm

(D) T Ity 7T rge

(E) U 91 SgU®

In the given political outline map of the world, identify following

points and write their names in your answer-book :

(A) The country with largest area in Africa continent

(B) A megalopolis

(C) The terminal station of Trans-continental Railway

(D) An international airport

(E) A major sea port
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W¥T-22  Beirag % faifea wafaw § fraifea 31 et agr s@% T o

I-Yfsr # fafay [1+1+1+1+]1=5]

(A) e 76 # e geEE T

(B) Z0arst 1 olie-s1a%w wWeH

(C) weret W fafda shy vfesm

(D) BTG ® ey

(E) oiTe &l UHa S firer

In the sign marked map of Chhattisgarh, identify the following and

write their names in your answer-book :

(A) Main tributary river of Godavari River

(B) Iron-ore mines of Dantewada

(C) Dam project on Mahanadi River

(D) Power hub of Chhattisgarh

(E) Only one jute mill of Chhattisgarh
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3rrar

OR

WA & TS Hareer At o Frafafaa o war od wd gt &
WY A FY ;

(A) BTG HT TIY TS HFeT INEH 4

(B) RA 1§ §7 A% =qlell T

(C) W § SaUsY wan srge!

(D) YA 1 Faifye =9/ SUEEH T

(E) zfaii o i 1 gemey

In the given political outline map of India locate and label the

following with symbols :

(A) The major coal field located in Chhattisgarh

(B) The state having the smallest area in India

(C) The international airport in Maharashtra
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(D) The most tea producing state of India

(E) The Headquarters of Southern Railway Zone

----------
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